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V Semester B.A. Degree (CBCSS - Reg/Sup/imp.)
Examination, November 2020
(2014 Admn. Onwards)
CORE COURSE IN ISLAMIC HISTORY
5B07 ISH - Rise and Fall of the Ottoman Empire

Time : 3 Hours Max. Marks : 40
PART -1
Objective questions :

Choose the right answer for the following 4 questions. Each question carries
1 mark :

1. In which year the Young Turk Revolution was took place ?

A) 1908 B) 1906 C) 1808 D) 1924
2. Who founded the Janissary army ?
A) Usman B) Murad | C) Orkhan D) Salim |
3. Who is known as ‘Al Qanuni’ ?
A) Muhammad | B) Salim i
C) Salim | D) Sulaiman
4. According to sever's treaty, Palestine became the mandate of
A) France B) Britain C) Raly D) Russia (4x1=4)
PART - 2

Short Answer Questions :
Answer any 7 questions of the following. Each question carries 2 marks :

5. Write a note about Usman.
6. Give a definition to Tanzimat.
7. Explain sublime porte.

8. Examine Bursa as the capital of Ottomans. _—
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8. Comment on Hatti Shariff.
10. Give a brief note on Balkan wars.
11. Write a2 note on Turkish republic.
12. Discuss about the Auspicious incident in Turkey.
13. Narrate the Lausanne treaty.
14. What is meant by Kemalism ? (7x2=14)

PART -3
Short Essays :
Answer any 4 of the following questions. Each question carries 3 marks :
15. Narrate the conquest of Egypt under Salim .
16. Examine the causes and results of the conguest of Constantinople by Turks.
17. "Psace of Kalowitz was the end of the War of Holy League'. Elucidate.
18. Differentiate between the Young Turk Revolution and Counter Revolution.
18. Describe the condition of Turkey after the First World War,
20. Evaluate the European expeditions under Sulaiman. (4x3=12)

PART -4
Essay Questions :
Answer any 2 of the following questions. Each question carries 5 marks :
21. Write an essay about the reform era of Turkey.
22. Analyze the reforms of Musthafa Kamal in Turkey.

23. ‘Under Sulaiman the magnificent Ottoman empire reached at its height'.
Elucidate,

24, Explain the Pan Islamism under Jamaluddin Afghani. (2x5=10)




